
List of Cuts applied 

0.3 < MM2 < 1.7(Missing Mass Squared)

PMinus  = 0.8 < pMinus < 1.1 

C.L > 0.001

BeamEnergy > 6.5 GeV 

52 cm < Zvertex < 78 cm

Coplanarity between Rho0 and Proton(165,195)

 PipProt Invariant Mass < 1.3 && PimProt Invariant Mass 1.2 

 |t| >1 ,|u| > 1  and tight cut on dE/dx of pions
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Entries  3125315
Mean    1.424
Std Dev    0.5477

 / ndf 2χ  324.9 / 174
Prob  11− 3.225e
const     6.9± 273.4 
sigma_rh0  0.0037± 0.1448 
mean_rh0  0.0009± 0.7729 
po        42.3±457.6 − 
p1        103.4±  1609 
p2        57.8±423.5 − 

Total_fit
signal rh0
Bg polyn

S/S+B = 39677.9885 ,30481.1621 = 0.5655

Include pMinus cut

BHESHA
Sticky Note
s/√(s^2 +B^2)= 0.79
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Entries  1383672
Mean    1.423
Std Dev    0.5485

 / ndf 2χ  335.5 / 174
Prob  12− 2.463e
const     5.0± 218.8 
sigma_rh0  0.0034± 0.1456 
mean_rh0  0.0008± 0.7714 
po-0      28.6±320.4 − 
p1-0      70.7± 838.8 
p2-0      39.8±139.8 − 

Total_fit
signal rh0
Bg polyn

S/S+B = 31714.3123, 13743.0839 = 0.6977

Include MM2 and pMinus cut

BHESHA
Sticky Note
s/√(s^2 +B^2)= 0.91

BHESHA
Sticky Note
Vary a  cut on MM2  to get better sgn/bkd.
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